ok LASE 1P T3 o 25 i ks - 1 35 45 B o 5T %

(BEAT : %)

FHEDE (~41 7 2B

NBAL | THETATA | EHEENE
1 KB T -12.2
(FE4E 1 41) -12.5

9 FIRRAT -11.3
(FEEE 2 41) -11.3

) = FnAT -11.3
(FE4E 4 2 fiF) -2.7

4 BE 4 T -10.6
(ME4E 6 fi7) -9.5

g F&=mT -10.3
(MESE 4 4r) -9.7

6 b Hii ] -9.7
(ME4E 1 6 fi7) -6.5

. SFAET -9.6
(FE4E 8 fiT) -8. 4

8 =Rahl -9.0
(FEEE 1 247) -7.0

o & /Nl -8.9
(FE4E 7 £ir) -8.5

10 FRFNET -8.6
(FE€E 1 5 AL) -6. 7

TEITFERL 1 3FEDOFHtE - FHEFR

(B4 - %)

THEDE (v 4 7 ) IRk

(1) F=Hh

(B4 [
SEE AR NEAT
NBAE | FIRTAT4 iy
i KA 95, 800
(FEEE 2 {i1) 99, 200
9 BFEM 95, 200
(WESE 1 {ir) 102, 000
5 S EH 81, 300
(FE4E 3 fi1) 87, 000
4 =/ S] 78, 500
(FESE 4 41) 86, 200
5 BRCHT 73, 000
(RESE 5 {i7) 79, 600
6 =yl 71, 900
(FELE 8 i) 76, 100
7 SFAHET 71, 800
(FE4E 6 1) 79, 400
8 R 70, 600
(FESE 7 {i1) 77, 400
9 [ON A SYsFiRNis] 70, 400
(FELE 1 O fi7) 73, 700
10 T 68, 700
(FE4E 8 i) 76, 100
()

(2) P

(B4 1)
SRS IEAL

AL | FIRTAT A SRS
i Vi =his] 248, 100
(RE€E 1 fi1) 299, 600
9 BFE 166, 300
(RESE 2 i) 185, 200
3 2L iEh 144, 000
(FELE 3{31) 157, 900
4 = RyA) 137, 300
(REEE 4 {i1) 157, 300
5 £ 136, 400
(FELE 5 i) 152, 200
6 T 125, 500
(FELE 6 i) 149, 800
; BE 4 5 TH 123, 100
(FESE 7 i) 136, 000
8 iR 112, 700
(FE4E 8 i) 130, 400
9 O =Bk 110,800
(FEE104L) 120, 400
10 SFAHET 109, 900
(WESE 9 i) 121, 500

(&)

NEAZ | TETATA | SEHEENE
) KFEH -15.8
(FEEE 2 fi1) ~15.0

5 At -15.3
(FESE 3 17) -13.5

3 IKHEE T -13.4
(FESE 1 41) -18.9

! IR -12.8
(REEE 7 {i1) -10.6

g FERTT -11.8
(WE4E 4 47) ~-11.6

6 Hiam -11.6
(FESE 9 fi1) -10. 4

7 reltikis ~11.4
(FE4E 7 /1) -10. 6

g L YNiil -10.2
(FE4E 1 1/7) -9.7

9 AF -10.1
(FE4E 1 2 fif) -9.5

10 BE T -9.8
(FELE 6 {i1) -10.9

10 4y -9.8
4

(VEZE 1 6 fir)

—8.

TR 1 3 DM - FHEER




